Moving Space Curve in Minkowski 3-Space and Soliton Equations

K.R. Abdo^{1,2}

¹(Department of Mathematics, University of Technology and Applied Sciences-ALRustaq, Sultanate of OmanE-Mail: kmoustafa.rus@cas.edu.om.., ²Department of Mathematics, Faculty of Science, Fayoum University, Fayoum-Egypt, E-Mail: kra00@fayoum.edu.eg.)

Abstract:

In this paper we introduce a relationship between curve evolution and the soliton equations in Minkowski 3space in case of space-like curve with space-like principal normal. MSC: 53A05, 53A17.

Key Word: Moving space curve; Minkowski 3-space; Soliton equations.

Date of Submission: 15-10-2020

Date of Acceptance: 31-10-2020

I. Introduction

The study of possible links between intrinsic kinematics of space curves [23] and integrablesoliton bearing equations [1] deserves attention because of a wide variety of applications of moving curves such as vortex filament motion in fluids [13]. dynamics of continuum spin chain [17], interface dynamics [11], etc. The pioneering work by Hasimoto [13] on the motion of a vortex filament in a fluid was the first to suggest such a link [3].

After the work of Hasimoto, several authors [4,5,10,15,16,17,18, 20,21, 22, 25] studied the connection between thy integrable nonlinear Schrodinger equation and non-stretching vortex filament equation. Ding and Inoguchi also presented this connection in Minkowski 3-space [6,7,8,12].

The present work is aimed to study the relationship between moving space curve in Minkowski 3space in case of space-like curve and soliton equations. The paper is organized as follows: In section 2 we discuss the basic geometry of a curve in Minkowski 3-space and introduce the Frenet-Serret equations which describe it. In section 3 we derive the relationship between curve evolution and soliton equations in Minkowski 3-space in case of space-like curve with space-like principal normal.

II. Preliminaries

The Minkowski 3-space E_1^3 is the Euclidean 3-space E_1^3 provided with the standard flat metric given by

 $ds^2 = -dx_1^2 + dx_2^2 + dx_3^2,$

where (x_1, x_2, x_3) is a rectangular coordinate system of E_1^3 . Since ds^2 is an indefinite metric, recall that a vector $v \in E_1^3$ can have one of three Lorentzian causal characters: it can be space-like vector if $ds^2(u, v) > 0$ or v = 0, timelike vector if $ds^2(u, v) < 0$ and null (light-like) vector if $ds^2(u, v) = 0$ and $v \neq 0$. Similarly, an arbitrary curve $\alpha = \alpha(s)$ in E_1^3 can locally be space-like curve, time-like curve or null (light-like)curve, if all of its velocity vectors α' (s) are respectively space-like, time-like or null (light-like) vectors. Denote by $\{t, n, b\}$ the moving Frenet frame along the curve α (s) in the space E_1^3 [9, 14, 24].

III. Moving space-like curves with a space-like normal

A space curve embedded in three-dimensions may be described using the usual Frenet-Serret equations. In the case of space-like curve with a space-like principal normal, the usual Frenet equations read as the following [14]:

$$\boldsymbol{t}_s = \kappa \boldsymbol{n}, \qquad \boldsymbol{n}_s = -\kappa \boldsymbol{t} + \tau \boldsymbol{b}, \qquad \boldsymbol{b}_s = \tau \boldsymbol{n}(3.1)$$

where κ , τ and sare curvature, torsion and arc-length of α (s) and

 $\langle t,t\rangle = \langle n,n\rangle = -\langle b,b\rangle = 1,$ $\langle t,n\rangle = \langle n,b\rangle = -\langle b,t\rangle = 0$

To describe the time evolution of the triad $\{t, n, b\}$, from above relations we have the following set of equations: $t_u = gn + hb$, $n_u = -gt + fb$, $b_u = ht + fn$, (3.2)

where the functions g = g(s, u), h = h(s, u) and f = f(s, u) determine the motion of the curve with respect to time u. In the case of non-stretching curves, requiring that the unit traid satisfy the compatibility conditions:

$$\boldsymbol{t}_{su} = \boldsymbol{t}_{us}, \qquad \boldsymbol{n}_{su} = \boldsymbol{n}_{us}, \qquad \boldsymbol{b}_{su} = \boldsymbol{b}_{us}. \tag{3.3}$$

DOI: 10.9790/5728-1605050710

By substituting in the compatibility conditions (3.3) from (3.1) and (3.2), we obtain the following relations: $\kappa_u = g_s + h\tau$, $\tau_u = \kappa h + f_s, \qquad h_s = \kappa f - gh.$ (3.4)

Now, we will study three formulations to the relation between moving space-like curve with space-like normal and soliton equations as follows:

Formulation (3.1)

The second and third equations of the set (3.1) are combined to yield

 $(\boldsymbol{n} + \boldsymbol{b})_{s} - \tau(\boldsymbol{n} + \boldsymbol{b}) = -\kappa \boldsymbol{t},$ $(\boldsymbol{n}-\boldsymbol{b})_{s}+\tau(\boldsymbol{n}-\boldsymbol{b})=-\kappa\,\boldsymbol{t}$. (3.5)This immediately suggests the definition of certain complex vectors

$$N_{1} = \frac{1}{\sqrt{2}}(n+b)\exp\left(-\int \tau \, ds\right)N_{2} = \frac{1}{\sqrt{2}}(n-b)\exp\left(\int \tau \, ds\right)$$
(3.6)

Then we have a new frame $\{t, N_1, N_2\}$ satisfying the following conditions:

 $\langle t, t \rangle = \langle N_1, N_2 \rangle = 1,$ $\langle t, N_1 \rangle = \langle t, N_2 \rangle = \langle N_1, N_1 \rangle = \langle N_2, N_2 \rangle = 0$ Differentiating equation (3.6) with respect to *s* and using equation (3.5), we will get:

$$N_{1s} = -\frac{1}{\sqrt{2}}\kappa \exp\left(-\int \tau \, ds\right)t, \qquad N_{2s} = -\frac{1}{\sqrt{2}}\kappa \exp\left(\int \tau \, ds\right). \tag{3.7}$$

Thus the functions Ψ_1 and Ψ_2 appear in a natural fashion in the above equation $1 - \frac{1}{2} + \frac{1}{$

$$\Psi_1 = \frac{1}{\sqrt{2}} \kappa \exp\left(-\int \tau \, ds\right) \Psi_2 = \frac{1}{\sqrt{2}} \kappa \exp\left(\int \tau \, ds\right). \tag{3.8}$$

and N_2 in (3.6), we get the following system

By using the definitions of N_1 and N_2 in (3.6), we get the following $t^+ - \Psi_2 N_2 + \Psi_1 N_2$. $N_{1s} = -\Psi_1 t$,

$$\begin{cases} t_s - \Psi_2 N_1 + \Psi_1 N_2, & N_{1s} - \Psi_1 t, & N_{2s} - \Psi_2 t, \\ t_u = \gamma_2 N_1 + \gamma_1 N_2, & N_{1u} = -\gamma_1 t + R_1 N_1, & N_{2u} = -\gamma_2 t - R_1 N_2, \end{cases} (3.9)$$

where

$$\begin{split} \gamma_1 &= \frac{1}{\sqrt{2}} (g-h) \exp\left(-\int \tau \, ds\right), \qquad \gamma_2 &= \frac{1}{\sqrt{2}} (g-h) \exp\left(\int \tau \, ds\right), \quad R_1 \\ &= f - \int \tau_u ds \end{split}$$

On imposing the compatibility conditions $\mathbf{t}_{su} = \mathbf{t}_{us}$, $N_{1su} = N_{1us}$, $N_{2su} = N_{2us}$ and using (3.9), we obtain $\Psi_{1u} - \gamma_{1s} - R_1 \Psi_1 = 0$, $\Psi_{2u} - \gamma_{2s} + R_2 \Psi_2 = 0$, $R_{1s} = \gamma_1 \Psi_2 - \gamma_2 \Psi_1$ (3.2) (3.10)

Or

$$\Psi_u - \gamma_s - R_1 \Psi^* = 0, \qquad R_{1s} = -\frac{i}{\sqrt{2}} (\gamma \Psi^* - \gamma \Psi^*) (3.11)$$

where $\Psi = \Psi_1 + i\Psi_2$, $\gamma = \gamma_1 + i\gamma_2$, $\Psi^* = \Psi_1 - i\Psi_2$ and $\gamma^* = \gamma_1 - i\gamma_2$. the two equations (3.11) are the system of soliton equations because it is an integrable system (of soliton type) [19] corresponding to moving space-like curve with space-like normal in formulation (I).

It is worth noting that: as noted by Lamb [18], the structure of the two Equations in (3.11) which arose from compatibility conditions on curve evolution suggests a possible relationship with soliton-bearing equations, via the Ablowitz-Kaup-Newell-Segur (AKNS) formalism [1,2]. In other wording: If we put $\Psi_1 = r$, $\Psi_2 = q$, $\gamma_1 = r$ $-r_s$, $\gamma_2 = q_s$ and $R_1 = -R$ where r = r(s, u), q = q(s, u) and R = R(s, u) are real functions of the variables sand *u*, we get the following soliton equations:

$$r_u + r_{ss} + rR = 0, \quad q_t - q_{ss} - qR = 0, \quad R_s = rq_s + r_sq,$$
 (3.12)

which are introduced by Ding and Inoguchi in [8]. It is worth noting that: the third equation of (3.12) implies that R has the form $R(s, u) = rq + R_0(u)$, where $R_0(u)$ is a function depending only on u. Then under the transformations $q \mapsto q \exp(\int R_0 du)$, $r \mapsto rexp(-\int R_0 du)$, we obtain

$$= q_{ss} + q^2 r, \quad r_u = -r_{ss} - r^2 q \tag{3.13}$$

 $q_u = q_{ss} + q^2 r$, $r_u = -r_{ss} - r^2 q$ (3.13) This system is just the second AKNS hierarchies of real type (2) by a scaling transformation

$$q \rightarrow \sqrt{2} q$$
 and $r \rightarrow \sqrt{2} r$.

Formulation (3.2)

Combining the first and second equations of the set (3.1), we get

$$(\boldsymbol{n} + i\boldsymbol{t})_{s} - i\kappa(\boldsymbol{n} + i\boldsymbol{t}) = \tau \boldsymbol{b}.$$
(3.14)

The above equation suggests the definition of second complex vector

$$M = \frac{1}{\sqrt{2}}(n+it)\exp\left(-i\int\kappa ds\right)$$
(3.15)

Then we have the new moving curve $\{\boldsymbol{b}, \boldsymbol{M}, \boldsymbol{M}^*\}$ satisfy

 $-\langle b, b \rangle = \langle M, M^* \rangle = 1,$ $\langle b, M \rangle = \langle b, M^* \rangle = \langle M, M \rangle = \langle M^*, M^* \rangle = 0$ Differentiating equation (3.15) with respect to s and using equation (3.14), we get:

$$M_s = \frac{1}{\sqrt{2}}\tau \exp\left(-i\int\kappa\,ds\right)b \tag{3.16}$$

Thus the functions Φ appears in a natural fashion in the above equation.

$$\Phi = \frac{1}{\sqrt{2}}\tau \exp\left(-i\int\kappa\,ds\right) \tag{3.17}$$

By using the definitions of M, we can get the following system of differential equations

$$\begin{cases} b_s = \Phi^* M + \Phi M^*, & M_s = \Phi b, \\ b_s = \beta^* M + \beta M^*, & M_u = -iR_2 M + \beta b, \end{cases}$$
(3.18)

where

$$\beta = \frac{1}{\sqrt{2}}(f + ih) \exp\left(-i\int \kappa ds\right), \quad R_2 = \int \kappa_u ds - g.$$

Now, from compatibility condition $M_{su} = M_{us}$ and equating the coefficients of **b**, M and M^{*} we get $\Phi_u - \beta_s + iR_2\Phi = 0$ $R_{2s} = i(\beta^*\Phi - \beta\Phi^*)(3.19)$

The system of equations (3.19) are the AKNS-heirarchy which is known to be a universal model in integrable systems since almost all the famous equations coming from varied physical backgrounds, such as the NLS, KdV, mKdV and so on, belong to this hierarchy [2].

Formulation (3.3)

From the first and third equations of (3.1), we get

$$(\boldsymbol{t} + i\boldsymbol{b})_s = (\kappa + i\tau)\boldsymbol{n}. \tag{3.20}$$

This suggests the definition of a third complex vector

$$P = \frac{1}{\sqrt{2}} (t + ib).$$
 (3.21)

Then we have the new moving curve $\{n, p, p^*\}$ satisfy

 $\langle n,n\rangle = \langle P,P\rangle = \langle P^*,P^*\rangle = 1$ $\langle n,P\rangle = \langle n,P^*\rangle = \langle P,P^*\rangle = 0.$ Differentiating equation (3.21) with respect to sand using equation (3.20), we get:

$$P_s = \frac{1}{\sqrt{2}} \left(\kappa + i\tau \right) \boldsymbol{n} \tag{3.22}$$

If we put $\chi = \frac{1}{\sqrt{2}} (\kappa - i\tau)$ we can get the following system

$$\begin{cases} n_s = -(\chi^* P + \chi P^*), & P_s = \chi^* n, \\ n_u = -(\gamma_3^* P + \gamma_3 P^*), & P_u = iR_3 P^* + \gamma_3^* n, \end{cases}$$
(3.23)

where $\gamma_3 = \frac{1}{\sqrt{2}} (g - if)$ and $R_3 = h$. Then from equations (3.23). we can obtain

$$\chi_u - \gamma_{3s} + iR_3\chi^* = 0, \quad iR_{3s} = (\gamma_3^*\chi - \gamma_3\chi^*)$$
(3.24)
e system by the AKNS formulation.

as an associated integrable system by the AKNS formulation.

References

- [1]. Ablowitz M.J. and Segur H.; Solitons and the inverse scattering transformation, SIAM, Philadelphia, 1981.
- [2]. Ablowitz, M.J., Kaup, D.J., Newell, A.C. and Segur, H.; The inverse scattering transform-Fourier analysis for nonlinear problem, Stud. Appl. Math. 53, (1974), 249-315.
- [3]. Balakrishnan, R. and Murugesh, S.; Kinematics of the three moving space curves assolated with the NLS equation, Theor. Math. Phys. 133, (2002), 1609-1618.
- [4]. Bishop, R.L.; There is more than one way to frame a curve, Amer, Math, Monthly 82, (1975), 246-251.
- [5].] chern, S.S. and Tenenblat, K.; Pseudospherical surfaces and evolution equations , Stud. Appl. Math. 74, (1986), 55-83.
- [6]. Ding, Q.; A note on the NLS equation and the Schrödinger flow of maps, Phys. Lett. A 248, (1998), 49-56.
- [7]. Ding, Q.; The gauge equivalence of the NLS equation and the Schrödinger flow of maps in 2+1 dimensions, J. Phya. A **32**, (1999), 5087-5096.
- [8]. Ding, Q. andlnoguchi, J.I.; Schrodinger flows, binonnal motions for curves and the second AKNS-hierarchies, Chaos, Solitons and fractals 21, (2004), 669-677.
- [9]. Ekmekci, N and Ilarslan, K.; Higher Curvatures of a regular curve in Lorentzianspace, J. lust. Math. Comp. Sci. 11, (1998), 97-102.
- [10]. Fordy, A.P. and Kulish, P.P.; Nonlinear Schrödinger equations and simple Lie algebras, Comm. Math. Phys. 89, (1983), 427-443.
 [11]. Goldstein, R.E. and Peterich, B.M.; The KdVheirarchy as dynamics of closed curves in the plane, Phys. Rev. Lett. 67, (1991),
- 3203-3206.
 [12]. Gürbüz, N.; The differential formula of Hasirnoto transformation in Minkowski 3-space , Int. J. Math, and Math. Sci. 16, (2005), 2609-1616.
- [13]. Hasimoto, H.; A soliton on a vertex filament, J. Fluid Mech. 51, (1972), 477-485.
- [14]. Ilarslan, K.; Spacelike normal curves in Minkowski space E_1^3 , Turk. J. Math. 29, (2005), 53-63.
- [15]. Îts, A.R. and Kotljarov, V.P.; Explicit formulas for solutions of a nonlinear Schrödinger equation, Dokl. Akad. NaukUkrain. SSR Ser. A 1051, (1976), 965-968.
- [16]. Kida, S.; A vortex filament moving without change of form , J. Fluid Mech, 112, (1981), 397-409.

- [17]. Lakshmanan, M.; Continuum spin system as an exactly solvable dynamical system, Phys. Lett. A 61 (1977), 53-54.
- Lamb, G.L.; Elements of soliton theory: Pure applied mathematics, John Wiley and Sons, New York, 1980. [18].
- [19]. Munigesh, S. and Balakrishnan, R,.; New connections between moving curves and soliton equations, Phys. Lett. A 290 (2001), 81-87.
- [20]. Rogers, C- and Schief, W.K.; Intrinsic geometry of the Schrödinger equation and its outo-Bäcklundtransformation , Stud. Appl. Math. 101, (1988), 267-287.
- [21].
- Sasaki, R.; Soliton equations and pseudospherical surfaces, Nuclear Phys. B **154**, (1979), 343-357. Schief, W.K. and Rogers, C.; Binormal motion of curves of constant curvature and torsion: Generation of solitonsurfaces, R. Soc. [22]. Lond. Ser. A Math. Phys, Eng, Sci. 455, (1999), 3163-3188.
- [23]. Struk, D.J.; Lectures on classical geometry, Addison-Wesely, Reading, MA 1961.
- Walrave, J.; Curves and surfaces in Minkowski space, Ph.D. thesis, K. U. Leuven, Faculty of Science, Leuven 1995.
- [24]. [25]. Zakharav, V.E. and Takhtajan, L.A.; Equivalence of the nonlinear Schrödinger equation and the equation Heisenberg-ferromagnet ,Theor. Math. Phys. 38, (1979), 17-23.